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Learning Goal 1.2

| can multiply and divide integers.
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Example Find the following product by modelling the equation.
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Multiplying Integers

When multiplying using counters, start with (] SHZQHQ Q(s 2D counters.
e The first integer _"C\\S hD‘N monj SYOUP% +D Odd oY eYVIONe

e The second integer,\_g\\s us "’\'Y\G 8\3'6 Dg—hqe 8YDUP
~ Whether the countery, are +ve oy -ve.
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c. (-5)%X6 = ~ 39 d. (=6) x (—4) =54
e. 4X7 22% f. 3x(-10) = - 39

Example Tina supports her favourite charity with an automatic deduction of $35 per month from her bank
account. Calculate her total deductions in a year.

~36X 12 - 420 2X-35 = -490
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